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MODEL PRACTICE SET-20 k= :
32, The sea coast of which oneof | (3) Greenhouse Gases
" the following states has be- (4) Ultraviolet Radiations
come famous as a nesting | gg, Which instrument is used for
place for the Giant olive Rid- measurement of angular dis-
ley turtles from South tances between two objects ?
America ? (1) Sexant 47.
(1) Goa (2) Gujarat (2) Telstar
{5) Odisha (4) Tamil Nadu (3) Spherometer
> mtliﬁe:ftaﬂif ol willgs.tg:'tt} (4) Refractometer
40. Number of players on each side
figet the of Volley Ball, Basket Ball and ® and
1) Poftom e Base Ball game are respective- (2) Village, Int
(3) top ly: District Level]
(4) None of these (1)5, 6,9 (3) Village level o
34. thlch of th;o follov:liélogrt t}:jp;s )6, 9, 5 (4) District levéif
glfngfstr?m SUBOREDAKECRYI! (T 196,15, 9 48. Name one At
(1) violet and orange (4) None of these is correct 3‘1 tiut]i?:a:?‘;lho
(2) blue and red 41. The distance between 90°E lon- g 0 e P,
(3) Indigo and yellow gitude and 91° E longitude at T I}ddm b
(4) yellow and violet the polceJs; i Bara;u b
35. What is the web search En- (1) Zero kilometre (2) Utbi (3) Alberuy
gine ? (2) 5 kilometres (4) Amir Khusro
(3) 50 kilometres 49. These oceanic rmumiq »
to open ocean and no indif

(1) It is an engine to download
songs and movie from a

particular website

(2) It is an engine designed to
look out for the informa-

tion in internet

(3) It is an engine designed to
extract confidential infor-

mation like password, ac-
count-ID through internet
(4) Both ‘A’ and 'C’
The famous player Pele is as-
sociated with which of the fol-
lowing games ?
(1) Table Tennis
(2) Football
(3) Hockey
(4) Volleyball

A Mughal Queen whose name
was written on all the Mughal

Firmans and inscribed on the
coins was
- [2)Nurjahan

(4) Same as it is at the equator

42. Which of the following is used

as a primary memory of com-

puter ?

(1) Optical storge device

(2) Magnetic storage device

(3) RAM

(4) Magneto-Optical storage

device

43. Who regulates credit rating
agencies in India?

(1) IRDA (2) RBI
(3) SEBI (4) SBI

44. India’s first dedicated
satellite milltary
(1) GSAT-12  (2) GSAT-7
(3) GSAT-1 (4) GSAT-8

45. For anyone to become g &
ber of Rajya Sabha, he /gl;'
must be at least: dat -
(1) 35 years of age
(2) 30 years of age :

(3) of the age what is Mminim
age required for Vice pre.."
dent of India -

(4) 25 years of age ‘

46. Primary deficit is equal to: |
” PRE b as %

mentg.\:iw

ahadm & 40 |
‘..:zlga{_i ; - e
v et 13 i

ol '

ual country can utilize iy
without the concurrence of
ternational institutions;
(1) Beyond 200 nautical mi
of exclusive economicz
(2) Beyond 100 nautical m
of exclusive economiczs
(3) Beyond 19.2 nauticalm
of exclusive econmnl,'clﬂj
(4) Beyond 12 nautical mil¢
exclusive economic Zon¢

50. Nearly how many Kilogra™
manganese is requved‘?'“
ufacture one tonne of St¢

(1) 10 kgs (2) 20Kes
(3) 50 Kgs ) loom

PART-C

QUANTITATIVE APTITY

51. The two banks oraﬂ“’é

|

straight and paral
are three personﬁf-!f
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d 25

E (1) 7? metres
'.(2) 20‘/-3— metres
| g 2543 metres

L

o

metre and the length of its
ow is 2 metre, then the
Jevation of the sun

If the heigh

angle of €
is
(1) 90° (2) 45°
(3) 30° (4) 60°

g3, Inasd if ~A = 120° and
AB = AC then £B is equal to
(1) 35° (2) 60°
(3) 30° (4) 80°

84, Iftan 6 - 3sinf = 0 then what
will be the value of sin®® -

cos 8-

(1) %(1&/2' +1)

(2) 517(16\/5 -1)
) (1642 -)

14 %(16\/5 +1)a

g _ (087)"- (013)*
087x0.87 +0.13x0.13
g’ ! (2) 0.87
10.13 (4) 0.74

%,
g:uay: 13 and xy = 6 then
value of 8x° + 27y° will be

=7

{
L
1
[?)[ -%)( "51'}--.,(1-%}?
U}.l. 3
n (2) =
-ﬁz n-1
N (4) —
‘;{’w’cﬁ'ab-zc—m=0
- M

L, O 2)a=b=C

59.
9 iI;‘:‘om a cask of milk, contain-
g 40 litres, 8 litres are drawn
;)vl;tthand the cask is filled up
e i;\rater. If the same pro-
5 thlrdrepeated a second then
time, what will be the
number of litres of milk left

in the cask:
(1) 20.48 (2) 20
(3)19.48  (4)21.58

60. A dishonest dealer professes to
sell his goods at C.P. but uses
a weight of 875 grams for a ki-
logram weight. Find his gain
per cent ?

= 1
(1) 145% 14—%
% (2) 147

2
12—=%
() 127

1. Acircus artistis climbing from
the ground along a rope
stretched from the top of a ver-
tical pole and tied at the
ground. The height of the pole

1
12=%
(3) 12

e made

is 30°. The distance covered by
the artist in climbing to the

top of pole 18
(1) 12 J2 m- (2) 12 m.

(3)24m. (4187
 (243)75,(3 f
62. Evalulate : (—55') x( 2)
16
(1)1 @) 51
o (4) 16
(3) 81
63 'rhevalueof
(1) 4 (2)3
(3) 49
4. If €05 o — g then value of
cos 100°
(1)1-2¢ @) 2a*-1
e i
o m40°+
o8, scc50 40°.c08€c50°=?
(1)2 (2) 0

SR v -.&-é A\ ris het

66. A’sinco!

67.

1
me is GZ% more than

B's. B's income is less than
A'sby:

L 17
6—% —
(1) 63 (2) 519%

15
(3) 6% (4) 5ﬁ%

1 1
Ifx=2‘;7§andy=z—_‘7§.

1

—

then valueof 711 y-1

be
V2 J3
(1) o (2) TR
J2 J3
(3) 11 (4) i

rectangle is in-

68. Thelength ofa
40% and its

creased by
preadth is decreas

The change in the area
rectangle is :

(1) 2% increase
(2) 2% decrease
(3) 4% decrease
(4) 5% increas€

ed by 30%.
of the

4 women can

69. If either 3 men or
k in 43 days.

of wor:

do a piece
7 men and 5 women working
together can do the work twice
as great in :
(1) 36 days (2) 24 days
(3) 28 days (4) 32 days
70. If a man can walk to a place
3 1
in 4zhrs. walking at 32
km/hr. How Jong would it take
g 1

an other man walking at 3'6‘
hr. towalk there and back

km/
1 3
(1) 97 hrs- (2) 97 hrs:
2 9_1_
3 23 hrs. (4 73 hrs.
71. If sm’x-ooS’x= t2y is true,
then sin®y — cos?y = cot’x will
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(5 (@) fanciful
T ey (4) playful
" i (86-87) : In the fol-

f t of the four
‘%o&e word oppo-
,’#;“ to the given word.
lf} pericious (2) imprudent
pworred

{4) unusual

pirections (88-90) : In the fol-
ol ns, sentences have
fagven with blanks to be filled
jshen appropriate and suitable
i Four altermatives have been

igsted for each question. Choose
pameet alternative out of the
e

#Thenew India that Nehru led
talled itself a sovereign
Democratic Republic.

1) tapitalist(2) revisionist
B Populist (4) socialist
= You work hard. vou
¥on't be able to clear e)\:'cn
naries,

(2) Until

(4) Lest

W
.
; Our company made

b everal lakhs of ru-

| (2) gain
Q: (4) raise
ey, 21792) : In the fol-
' “q om'l'l"..v:rnatm‘:s:

(3) give a correct account

(4) make a confession

Directions (93-95) : In the
following questions, out of the four
alternatives, choose the one which

can be substituted for the given
words/sentence

93. Somethin
believed

(1) Inevitable (2) Ineffable
(3) Incredible (4) Ineluctable
- Body of a human being or ani-
mal embalmed for burial
(1) Corpse (2) Mummy
(3) Morgue (4) Mortuary
Ofvery bad morals; character-
ised by debasement or degen-
eration.
(1) Desultory (2) Dilapidated
(3) Depraved (4) Dilatory
Directions (96-97) : In the fol-
lowing questions, four words are
given in each question, out of which

only one word is wrongly spelt. Find
the misspelt word.

g which cannot be

95.

96. (1) Tackle (2) Strategy
(3) Tution (4) Tariff

97. (1) Equation (2) Fatigue
(3) Oposite (4) Publish

Directions (88 ~ 100) : In the
following questions, a sentence/a
part of the sentence is written in
bold. Below are given alternatives
to the bold part which may improve
the sentence. Choose the correct
alternative. In case no improvement
is needed, choose No Improve-
ment.

98. The two thieves distributed
the loot between them.
(1) with themselves

P e

e

(1) No impr S T
(2) Plants can thrive in the
sun. R ke ip]
(3) Plants cannot grow on a
cloudy day. ) 4
(4) Plants do not live in dark-
ness. -
m— ANSWERS =
1.4 2.4]| 8.2 4. (2)
5.()] 6.2 ]| 7.2 8. (4)
9.(4)| 10.3) | 11.(4) | 12.(1)
13.(1)|-14.(2) | 15.(1) | 18.(1)
17.(2)| 18.(1) | 198.(1) | 20.(1)
21.(3)| 22.2) | 23.(2) | 24.(2
25.(3)| 26.(1) | 27.(1) | 28.(4)
20.4)| 30.(1) | 31.(1) | 32. (3
33.(3)| 84.(2) | 35.(2) | 38.(2)
37.(2)| 38.(2) | 39.(1) | 40.(3)
41. ()| 42.(3) | 43.(3) | 44. (2
45.(2)| 46.(1) | 47.(2) | 48. (@
49.(1)| 50.(1) | 51.(3) | B2.(4)
53.(3)| 54.(2) | 55.(4) | B6.(4)
57.13)| 68, (2) | 89.(1) | 60.(1)
61. (31| 62.11) | 83.(3) | e4. (1)
65. (1)| )| 67,12 | es.(2)
69. 2){ 70.(2) [ 7L.(1) | 72.(3)
73.(2)| 74.3) | 78.13) | 7e. (2)
77.3)] 78.(2) | 79.(4) | s0.(a)
81.(4)| 82.(2) | 83.(2) | 84.(2
85.(3)| 86.(4) | 87.(2) | 88. ()
89.(1)| 80.(1) | o1.(2) | ®2.(3)
83.(3)| 84.(2) | 95.(3 | ®e6. (3
97.(3)| 98.(4) | 99. (3) | 100. (2)
== EXPLANATIONS —

1. (4) Opthalmologist is a person
who is specialised in eye and
its diseases. Similarly, com-
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PRACTICE SET-20 ||

3 s B PLIERE -
élmonnmcndnsxr :

(1) water gas Is a synthesis gas,
taining carbon monoxide

733) and hydrogen gas (H,). It
- emade by passing steam over
_hot carbon fuel such as
. coke. The reaction between
steam and hydrocarbons pro-
duce the gas mixture.
.:,1.“) Kenya, China, Sri Lanka
[ndia and Vietnam are the
leading exporters of tea in the
world. These five countries are

. (he major producers of tea as
well. The United Kingdom is

ne of the major importers of

tea. India is the world's larg-

est tea-drinking nation.

8. (4) Bal Gangadhar Tilak never
pecame the President of the In-
dian National Congress. He was
one of the first and strongest
advocates of “Swaraj" (self-rule)
and a strong radical in Indian
consciousness. “Swaraj is my
pirthright, and I shall have it!"
was his famous quote.

2, (4) The Pachmarhi Biosphere
Reserve is a non-use conserva-
tion area and biosphere reserve
in the Satpura Range of
Madhya Pradesh. It is located
within Hoshangabad, Betul,
and Chhindwara districts of
Madhya Pradesh. UNESCO des-
ignated it as a biosphere reserve
in 2009,

0.(1) Global Family Day, One

Day of Peace and Sharing, is

celebrated every January 1 in

:hc United States as a global

g;fpeace and sharing. Glo-

Umk:nmy Day grew out of the

cbratlONaEions Millennium cel-

L) Revn' One Day In Peace”.

T'kkat'e:lue Stamp' (‘Raseedi

“mﬂtapnn Ptfnjabt, 1976) is

It Tefleots t:m s autobiography.
"‘san er rebellious ideas;
Ming aexP"CSSlon of romantic
nd the sufferings of
Inh

(3 b €r.
3t (?al:,Shlk“]y a rookery
ha hag Jam district of Od-
b""g the r::: in the news for
S nesting of en-

Jority of olive ridleys nest in two
or three large groups near Ga-
hirmatha in Odisha.

33. {.;S‘LT:L; rz?sl:i why ice forms on
that once wateisc;.gg lx))onds 5

elow 39
degrees Fahrenheit, it becomes
lighter and less dense the more
it cools. This means that wa-
ter expands as it freezes into
ice. As a result, ice takes up
more room than the water it
was made from.

34. (2) Chlorophyll of plants ab-
sorbs light most strongly in the
blue portion of the electromag-
netic spectrum, followed by the
red portion. Conversely, it is a
poor absorber of green and
near-green portions of the
spectrum.

35. (2) A web search engine is a soft-
ware system that is designed to
search for information on the
World Wide Web. The informa-
tion may be a mix of web pag-
es, images, and other types of
files.

36. (2) Pele is a retired Brazilian
footballer. He is regarded by
many football critics, past play-
ers, current players and foot-
ball fans in general to be the
best player of all time.

37. (2) During the last years of Ja-
hangir's reign, coins were
struck in the name of Nur Ja-
han and the royal seal on fir-
mans bore her signature. Mehr-
Un-Nisa or Nur Jahan was the
favorite wife of Jahangir.

38. (2) Chlorofluorocarbon or Fre-

on (CFC) has been responsible

for ozone depletion in the up-
per atmosphere. The Montreal

Protocol has banned the pro-

duction of CFCs, halons, and

other ozone-depleting chemi-
cals.

39. (1) A sextant is an instrument

used to measure the angle be-

tween any two visible objects.

Its primary use is to determine

the angle between a celestial

object and the horizon which
is known as the object’s alti-

Bereq
Inu’t lndg;vc Ridley turtles.
Ocean, the ma-

tude.

40. (3) In volleyball there are 6 play-
ers on each side; 3 of the play-
ers are positioned on the front
court and 3 on the back court.
It's 5 on 5 in case of basket-
ball. Baseball is a pat-and-ball
game played between two teams
of nine players each.

41. (1) A degree of longitude is wid-
est at the equator at 69.172

miles and gradually shrinks to
So the dis-

zero at the poles.
tance between 90°E longitude
and 91° E longitude at the
poles is zero.

42. (3) Primary storage, also known
as main storage or memory, is
the area in a computer in which
data is stored for quick access
by the computer’s processor.
The terms random access mem-
ory (RAM) and memory are of-
ten as synonyms for primary or
main storage.

43. (3) Credit rating agencies are
regulated by SEBI. The SEBI
(Credit Rating Agencies) Regu-
lations, 1999 govern the credit
rating agencies and provide for
eligibility criteria for registra-
tion of credit rating agencies,
monitoring and review of rat-
ings.

44. (2) GSAT-7, India’s first satel-
lite dedicated to use by the mil-
itary, was successfully
launched into orbit in August
2013. Built by the ISRO, the
satellite was launched from
Kourou in South America us-
ing a French-made Ariane rock-
et.

45. (2) For anyone to become a
member of the Rajya Sabha,
he/she must be at least 30
years of age. The remaining re-
quirements are the same as be-
coming a member of the Lok
Sabha.

46. (1) Primary deficit is derived af-
ter deducting the interest pay-
ments component from the fis-
cal deficit (Fiscal deficit = to-
tal expenditure - (total reve-
nues - borrowings)) of any bud-
get. The total of primary deficit
and interest payments makes
up the total or fiscal deficit.

R
—(CoLe-515)H
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